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1. ZF is reset and CY is set [Option ID = 91442]

2. ZF is reset and CY is unchanged [Option ID = 91443]
3. ZF is set and CY is reset [Option ID = 91440]

4. ZF is set and CY is unchanged [Option ID = 91441]

Correct Answer :-
o ZFis set and CY is reset [Option ID = 91440]

15) To increase the resolving and magnifying power of a telescope [Question ID = 52828]

1. Only the focal length of the objective has to be increased [Option ID = 91305]

2. Only the aperture of the objective has to be increased [Option ID = 91306]

3. The wavelength of light have to be decreased [Option ID = 91307]

4. Both the focal length and aperture of the objective have to be increased [Option ID = 91304]

Correct Answer :-
« Both the focal length and aperture of the objective have to be increased [Option ID = 91304]

16) In a transformer, the number of turns in the primary coil are 140 and that in the secondary coil is 280. If the current in primary coil is
4A, then that in the secondary coil is

[Question ID = 52824]

1. 2A [Option ID = 91290]
2. 4A [Option ID = 91288]
3. 10A [Option ID = 91289]
4. 6A [Option ID = 91291]

Correct Answer :-
e 2A [Option ID = 91290]

17) The most commonly used amplifier in sample and hold circuit is [Question ID = 52856]

1. an inverting amplifier with a gain of 10 [Option ID = 91418]
2. a unity gain inverting amplifier [Option ID = 91416]

3. an inverting amplifier with a gain of 100 [Option ID = 91419]
4. a unity gain non inverting amplifier [Option ID = 91417]

Correct Answer :-
e a unity gain non inverting amplifier [Option ID = 91417]

18) He did not register a —— to the proposal. [Question ID = 52789]

1. dissent [Option ID = 91148]

2. divergence [Option ID = 91150]
3. deviation [Option ID = 91151]
4. disfavour [Option ID = 91149]

Correct Answer :-
« dissent [Option ID = 91148]

19) A silicon PN junction at a temperature of 200-C has a reverse saturation current of 10pA. The reverse saturation current at 400-C for
the same bias is approximately.

[Question ID = 52854]

1. 80pA [Option ID = 91411]
2. 20pA [Option ID = 91408]
3. 40pA [Option ID = 91410]
4. 30pA [Option ID = 91409]

Correct Answer :-
« 40pA [Option ID = 91410]

20) 14 of H,0 changes from liquid to vapour phase at constant pressure at 1atm. The volume increases from 1cc to1671cc. The heat of
vaporisation at this pressure is 540cal/g. The increase in internal energy of water is

[Question ID = 52816]
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1.51eV
L08eV
—0.54eV
—1.08¢V

—1.08¢V
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Evaluate the integral [ [sinyda + (1 + cosy)dy|, where C' is the closed path given by
i TR
S+E=L
o

m/(ab)

Ta
wab

wh
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" Determine the rank of the matrix A =
15 5 7
1 14 17

Compute the work done by the force F = (2y + 3)i + 22 + (yz — z)k when it moves a
particle from the point (0,0, 0) to the point (2, 1, 1) along the curve z = 2(%, y =1, z=1"

Find the points on the surface 2> = zy + 1 nearest to the origin.

A nucleus of mass j + A is at rest and decays into two daughter nuclei of equal mass
M /2 each. Speed of light is ¢. The binding energy per nucleon for the parent nucleus is £, and
that for the dughter nuclei is F,. Then

The moment of inertia of an annular disc of mass M with inner radius r; and outer radius
r» about an axis of the disc is
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103 - 1)
M03 )
LM (r2 —rd)

12

| J—Jﬂﬂf(‘l“ri + ?"f‘)

EM( +19)
The equation of a particle executing simple harmonic motion is given by
x = (2em) sin [(]Ehr:_a N+ %]

The maximum speed is

10 (em/s)
Sa(ems)
20 (emf 8)
Bm(cm,/'s)

20w (em/s)

" Find the Laplace tranform of the function

g [mnk

) In ['é—w]

2 ta?

In [%—_&:;-]

2]”2

2 |

i In [%rhg

- 571
shpb?

i2
In m]

A CE amplifier has voltage gain of 50, an input impedance of 1000£ and an output
impedance of 200¢). The power gain of the amplifier will be:
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A radiowave has a maximum electric field intensity of 107"V ! on arrival at a reciving
antenna. The maximum magnetic flux density of such a wave is

3 x 10T
1.0 x 1077

5.8 x 10T

How many photons of a radiation of wavelength A = 5 x 10 7 must fall per second on
a blackeened plate in order to produce a force of 6.62 x 10" N?

5 x 10"
5x 102
5 107
5 10"

5 x 102

Find the values of A for which the equations 3x +y — Az = 0,4z — 2y — 32 = O and
2Ax + Ay + Az = 0 possess a non-trivial solution.
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Find the particular integral of the equation

(D? + 4)y = sin 2p

E 1 -
3 cos 2
f‘-"l' sin 2z
% sin 2

x v, G
—qcos 2T

y=—1+ce'™ ¢= const.

y=—1+ce¥* = const.

y=—1+eeV*, = const

y=—1+ee?* ¢=const.

An electron and a proton are accelerated through a potential V. 1f p, and p,, be their
momenta, then p,,/p,. is approximately

Find the area of the region in the first quadrant that is bounded above by y = /o and
below by the z-axis and the line y = x — 2.

In a common base amplifier circuit, calculate the change in base current if that in the
emitter current is 2mA and o = (0.98
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[ 1.8
) C 1 3.3
|2 3 2]
[1 1 0
| O = 3 3
|03 2]
1 10
C=1113 3
G 3 2
142 i
C 1 3 3
03 2
1 10
C=]13 3
03 2

. 12
Evaluate lim,,_,, (202) .

Solve the following differential equation

(1 4+ 4%)dx = (tan 1y — x)dy

—tan "y

r=tan"'y — 2+ ce o= consl.

1
r=tan 'y 4+ 2+ eV o= const.

1
g=tan"ly+1+ee~ ¥ o= const.
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= — tan—1
z=tan 'y — 14 ce ™V &= const.

= — tan—1
r=tan"'y — 14+ ce ™ Y ¢= const.

If @ and b are constant vectors , then find V x {af X (5 X ;}}

=]
X
oy

N
o+
=l

If r(1) = 5% + 1] — (*k, then evaluate [ [*4] dt

1 00
Find the eigenvectors of the matrix A = [ 010 ] 3
0D o1

[1,0,0]",[0,1,0],[0,0,1]7]
[1,0,0]"

[0,0,1]7,[0,1,0]7

I

[1,0,0]",[0,1,0],[0,0,1)7]

What should be the clock frequency of a 6-bit A/D converter so that its maximum conver-
sion time is 32ps7
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Find the missing number in the following table:

Table 2
18 | 24 | 32
12 14 | 16
3 ? 4
T2 1112 ] 128

Find the general solution of the following differential equation

(zy — =)y = yPdx

y=1jce¥’® ¢ = consi.

y=ce™,  ¢= consl.
y=1/ce™¥, ¢ = consl.

y = cel® ¢ = consl,

y = cel® ¢ = const.

The Boolean expression Y = ABCD + ABCD + ABCD + ABCD reduces to

=l sl
=

b
w!

Find the missing number in the following table:
Table 1

2
5
8
27 | 38

B S

] =] = R
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A carnot engine takes 3 x 108Cal of heat from a reservoir at 627°C and give it o sink at
27°C. The work done by the engine is

Zero

4.2 % 1087
16.8 x 1007
8.4 % 1087

8.4 x 1087

A transistor operating in a common base configuration has a forward current gain factor
e = (.99, If the emitter current is changed by 1mA, then the change in the base current will be:

99mA
0.01lmA
0.99mA

100pA

- ]’.2 -
Evaluate the lim g ) (0.0 3_—'}%

The dimensions of a block are lem x lem x 100cm. If the specific resistance of its
material is 3 x 10770 /m, then the resistance between opposite rectangular faces is

3% 10750
3 10730
3x 10770
3 x 10790

www.FirstRanker.com



:l », FirstRanker.com

A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

310770

A source and an observer are located at the same point. The source starts moving away
from the observer at { = ) with a constant acceleration a. If the natural frequency of the source
is ny and the speed of sound in air is v, then the frequency received by the observer at time {

will be

equal to (202

rfal

less than (202 )

more than {;"{EEI)

equal to (224

p—ni

more than [;’Eﬁ]

/ dz
L2z +2)

where ' is any rectangle containing the points z = () and 2z = —2 inside it.

Evaluate the integral

21

dme

i

The temperature of a point in space is given by T'(x, y, 2) = 2% + y? — 2. A mosquito
located at (1, 1, 2) desires to fly in such a direction that it will get warm as soon as possible. In
what direction should it fly.

M2u-25—k)
—26+25— k)
123425 — k)

M2i+25+k)

N2 +25— k)
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Find the inverse Laplace transform of

gl

1 [cosh at — cos at]
ﬁ [coshat — cos al]
1 [cosh at + cos at)

1 Ths T,
3 [eosh al + cos at]

Lo o
5 [eoshal + cosat]

Find the curvature at the point (3a/2, 3a/2) on the folium z° + 3* = Jazxy.

8v/2/3a
—8v/2/3a
5v2/3a
—5»/‘3;’3&

The barrier potential in a pn junction is (.4V. The current required is 5mA. What is the
emf of a cell which can be used in a circuit if a resistance of 300£2 is connected in series with
the junction?

Flux & (weber) in a closed circuit of resistance 1082 varies with time £ ( in seconds)

according to the equation
& =612 — 541

What is the magnitude of the induced current at { = %s T
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In each of these questions, which character when placed at the sign of interro-
gation shall complete the matrix.

Table 3
A|D|H
F|I|M
7/ N|R

An electron in Bohr's hydrogen atom has an energy of —3.4el’ . What is the angular
momenium of the electron?

el

=

Evaluate [ [ ze™ dydz.

Consider an 8085-based system operating with the following specifications:

Crystal frequency - 6 MHz
ROM map-0000 through 07FF
RAM map-1000 through 17FF
ROM requires 1 wail state
RAM requires no wait state
Assume the content of PC is 0200,

The instruction cycle time needed for the instruction ORI A, 22 is
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A nucleus z X emits an e particle. The resultant nucleus emits 7' particle. The respec-
tive atomic and mass number of the final nucleus will be

www.FirstRanker.com



:l », FirstRanker.com

A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

1/2
2v/3
1/3
15
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6415

128uS
0.51S
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